PROFESSIONAL EXAMINATION BOARD
§ Profsceicnl Group-3 Sub Engineer-
rebmmmmﬂ Civil /Electrical/Mechanical /Draftsmen Combined
board Recruitment Test-2018
2"d Sep 2018 02:00PM

Topic:- General Knowledge

1) Harishankar Parsai, who hailed from Madhya Pradesh, was a famous writer in which branch of Hindi
literature? /

A U W & UG d@P e s, B Arfgw ot fora zmar & d@- #vd 37
1. Satire / A
2. Poetry/ﬁ?ﬂ

3. Translation / 3fJdlq
4. Novel / U

Correct Answer :-

« Satire / Y

2) Name the Indian who was elected as the First woman President of the UN General Assembly: /
I URATT A BT A7 FaT¢ forg e IS¢ HGTAHT Dt AW AT Sq&l =1 T4T:

1. Annie Besant / Q:ﬁ e

2. Girija Shankar Bajpai / HIREIRIET anaﬁé

3. Vijaya Lakshmi Pandit / faorg et dfga

4. Sarojini Naidu / SRITSF! AIg

Correct Answer :-

. Vijaya Lakshmi Pandit / faorg et dfeq

3) Name the Indian city where the tragedy occurred at the Union Carbide India Limited plant on December 1984.
/

I YR R BT ATH FATST, TEi fewaR 1984 Bt g Frafss sfean fafies waa & amadt g8 A
1. Bhopal / HIaTdl

2. Patna / UCHT

3. Indore / $&R

4. Kanpur / dTTY

Correct Answer :-

« Bhopal / wara



4) Who is the current interim Head of ICICI Bank as on July 2018? /
ATS 2018 A TS AW SATS S BT IAAT AR U P 82
1. Aditya Puri / e @

2. Chanda Kochhar / 9T ®IeR

3. Sandeep Bakshi / B KSRE ]

4. Shiksha Sharma / fRreqT gl

Correct Answer :-

« Sandeep Bakshi / BEALEERE]

5) Who among the following was the captain of ‘2017-18 Ranji Trophy’ Madhya Pradesh cricket team? /
fFrafaf@a & & $19 <2017-18 IS STEY Teg U fbde SN & @ A2

1. Avesh Khan / 3{d1 @

2. Harpreet Singh / BTQDR_‘T ﬁl—s'

3. Ankit Sharma / 3ffdrd g

4. Devendra Bundela / Gd% @Tﬂ

Correct Answer :-

« Devendra Bundela / éé';: §%E|

6) In which of the following districts of Madhya Pradesh is the ‘Mahamrityunjay ka Mela’ held every year? /

e wext & fFraffad # 3 fra ora & vde af weryaiea &1 aar smafor fear wmar g2
1. Narsinghpur/:legﬂT
2. Khargone/w

3. Sheopur / Q@I’QT
4. Rewa / JidT

Correct Answer :-

« Rewa/dar

7) India’s first talkie feature film was: /

HRA B Ugell atere oo A

1. Haridas / m

2. Alam Ara / 3TcTH 3{RT

3. Raja Harishchandra / XTSIT Eﬁ'-‘lﬁlv_&’
4. Ramayan / XTHIIU

Correct Answer :-

o Alam Ara / 3TdH AHRT



8) ‘Devi Ahilya Bai Award’ of Madhya Pradesh Government is given to women who excel in the field
of .

T Y=T IR BT "4t srfgear g (2t sifgeun a1s srars) 3 ufgensi &1 feur wrar 8, =it
& &7 # I 1t B

1. Tribal, public and traditional arts / SN, i 3R RuRe warsit
2. Education / TRI&fT

3. Theatre / ﬂqaz

4. Social service / THTS JdT

Correct Answer :-

« Tribal, public and traditional arts / SFSIII, WA= 3R URURE Haai

9) ‘Sahitya Akademi’ is India’s highest honour given in the field of .

YRT BT TG T REPR Tiieed bl & e o fear wmar 21
1. Agriculture/?ﬁ

2. Literature / FITFE:'?J
3. Business / ddd

4. Education / TR1&f

Correct Answer :-

o Literature / GTFE:'?\’I

10) Ustad Bismillah Khan is a maestro of which of the following instruments? /

SwaTg fafreTs @ & I 93 & are® &2
1. Sitar / FHAR

2. Shehnai / RI8TTS

3. Veena / GFT

4, Tabla / A&l

Correct Answer :-

o Shehnai / e '5:

11) Dr. A.P.J. Abdul Kalam’s autobiography is called ./
ST TS, Segd FATH B ATHBUT BI FEI AT
1. Ignited Minds / 3"213%_5' ase

2. Wings of Fire / favT 3ifh BRR

3. Turning Points / =T Wrse

4. Inspiring Thoughts / SRR Yie



Correct Answer :-

« Wings of Fire / favT 3iTh BRR

12) Which Indian Prime Minister declared a National Emergency during the period of 1975-1977? /
1975-1977 B! 3afts & R, v Wit g A Ifha smuraeTer aiftya fasam ure

1. Lal Bahadur Shastri / €l aﬁ'@w

2. Indira Gandhi / $fGRT 7Tielt

3. Jawaharlal Nehru / SIdTgX &l W

4. Gulzarilal Nanda / ﬂ?ﬁﬂﬁ?ﬂﬁ Har

Correct Answer :-

« Indira Gandhi / SfcT TTieh

13) The paintings of Ajanta depict stories from the .
3feiar o1 Ui o B BT BT fev far T g
1. Panchatantra / Uadal

2. Mahabharata / HeIHRd

3. Jatakas / SITdh

4, Ramayana / XTHIIUT

Correct Answer :-

« Jatakas / SI[dh

14) Which of the following cities is surrounded by the hills of Vindhyachal Range? /
frafefea & @ #1991 e [Gume Yo o werfeal d Rrrgan g?

1. Chanderi / I&<1

2. Salem / AH

3. Warangal / CRUK]

4. Aurangabad / 3RS aQ

Correct Answer :-

« Chanderi / T3

15) Which among the following regions in the present Madhya Pradesh was ruled by the descendants of Afghan
General Dost Mohammed Khan during 1723 to 1728? /

1723 9 1728 & SR, ABI SR ST HIgHE W & a2 3 goaq 9 uew § fAafafeaa 7 @ fa &
TR XA foar 412

1. Bhopal / uard
2. Mahakoshal / W‘QW‘[



3. Malwa / HIAdT

4. Indore / 3‘@?

Correct Answer :-

« Bhopal / uard

16) The Union Cabinet on May 2018 has approved the establishment of which of the following institutes in
Bhopal? /

Foty divsa A 7 2018 # Hiurer A Frufafaa o 9 fora dwum ot wirer o ded &
1. National Institute of Bank Management / TI'Qj'q CEZRCHE R RIIE

2. National Institute of Industrial Training / QT@H 3T URRreror T

3. National Institute of Rural Development / T@'q PIGIAREARESEIIR]

4. National Institute of Mental Health Rehabilitation / TI'Q:I'ET RS W ﬂ:ﬁm GRIIE]

Correct Answer :-

« National Institute of Mental Health Rehabilitation / QTQj’q RS W Eﬁaﬁ GRIIE]

Topic:- General Hindi

1) Y- I AT I A A AP AT
1. DR
2. 3THIBR
3. 3YBR
4. JAMYBR

Correct Answer :-

2) BTEE - PIYS EY AR DR
1. FaEG
2. BIGIHE,
3. Balag
4. BAIEG

Correct Answer :-

3) 3fBE - & forg wdh Wiy fa=de =t gfm)
1. IB+RY
2. I+
3. IA+RIF



4. 3+ 3y
Correct Answer :-

- SR
4) JwWfd - & fore wg Wi fawde <t gful
1. A
2. Al
3. go+afa
4. FIT[#I'I%T

Correct Answer :-

5) TTEX & qTEY R THRAT - geray o1 34 g e A AP ar e
1. 3 & SHTIR I HAT

2. 31 A 1A W Ul 99 AT

3. 31 31 g AT

4. 3119 Y HH Y AT

Correct Answer :-

. 3T 3P TG HIAT

6) 3ifaw AT A1 - geTak &1 3 g e A A P e
1. T g RIH W U3 g1

2. XER HI T

3. 4 &b SAd IS g

4. g Fdbe 311

Correct Answer :-

. TG F ATd B g1

7) AT & foT A6t yataardt are reql @t ufed & g
1. 33, BY, Iy

2. 3, Eﬁ,Gc_vm

3. 31, B4, Iedrd

4, 3AAq, E:’ET,GQ'_@W

Correct Answer :-



8) Tepifad SAPR fhad UPR & §Id 82
1. dR

2. 91d

3.

4.Q

Correct Answer :-

9) ‘yft-arit & forw & & 1 W IENT ¥
1. 9gsiife Ja™

2. fgy gum g

3. 4g 9AN

4. HUYRY AN

Correct Answer :-

. GG 9H™

10) U ¢ TTET & o Uw vg FrA A A P AT 3?2
1. I

2. I

3. IUR

4. &R

Correct Answer :-

11) ST 8 0 & Q B 91 90N 82
1. Igsiife AN

2. fer oo

3. 45 99

4. 3{UTHTd THTY

Correct Answer :-

. Sgsife JHE

12) <3 IUTT A T Vg P A A BT A2
1. 3R

2. 3T

3. 3T



4. SR

Correct Answer :-

13) YT TH BT I UG FT 82
1. famma

2. Y

3. 44

4. T

Correct Answer :-
. g

14) fRReh4l S R, T4 7 99 MR

B! T A qUUTTST, 3 FAR & a1 | - W g & J B9 a1 R 82

1. U AR

2. IohIfad HABR

3. U 3TADR

4. QY ABR

Correct Answer :-

. Y 3APR

Topic:- General English

1) Choose the option that best transforms the given sentence using a question tag:
They will meet us there,

1. they isn't?

2. will they?

3. won’t they?

4. isn’t?

Correct Answer :-

« won't they?

2) Choose the option that best fills in the sentence:
It is becoming to find a job.

1. hard and harder

2. more hard



3. hardest
4. harder and harder

Correct Answer :-

» harder and harder

3) Choose the appropriate prepositions for the given sentence:
Are you planningtogoout _ _awalk_ therain__ Tom?
1. by, of, to

2. at, with, for

3. of, by, with

4. for, in, with

Correct Answer :-

« for, in, with

4) Spot the error in the given sentence:

Did you went to see the accident on the road?

1. on the road?

2. Did you

3. the accident

4. went to see

Correct Answer :-

« went to see

5) Choose the correct form of verb for the given sentence:
The government is making every effort to an economic crisis.
1. avert

2. swerve

3. skew

4. sidetrack

Correct Answer :-

e avert

6) Choose the correct form of clause for the given sentence:

, they voted for him.

1. When you like a leader

2. Because they liked the leader



3. What they liked about the leader

4. The leader which the people liked

Correct Answer :-

» Because they liked the leader

7) Choose the correct form of tense for the given sentence:
Today, a petrol pump _ much more than just a fuel-stop.
1. had been becoming

2. was being

3. has became

4. 1is

Correct Answer :-

8) Choose appropriate articles for the given sentence:

_____police needed ___ explanation from him about why he was carrying __ weapon.
1. A, the, an

2. A, the, an

3. The, an, a

4. The, a, a

Correct Answer :-

e The, an, a

9) Choose appropriate conjunctions for the given sentence:

Iwill__ come for the party,  pick you up from home.

1. when, after

2. although, till

3. neither, nor

4. after, or

Correct Answer :-

« neither, nor

10) Choose the most suitable prefix for the given sentence:
Stonehenge is a ___ historic monument located in Salisbury, England.
1. pre-

2. un-



3. re-

4. post-

Correct Answer :-

11) Choose the option that is appropriate to fill in the blanks in the given sentence:
What’s wrong? Is there _ in your eye? Is it you?

1. anything, hurts

2. nothing, hurting

3. something, hurting

4. something, hurted

Correct Answer :-

« something, hurting

12) Choose the option that best transforms the sentence into its other voice:
How did you solve the problem?

1. Did you solve the problem how?

2. How was the problem being solved?

3. How was the problem solved?

4. The problem was solved by you how?

Correct Answer :-
» How was the problem solved?

13) Choose the option that correctly spells the words to be filled in the given sentence:
Can you the baby’s , please.

1. assemble, cradle

2. assimble, cradele

3. assemble, cradile

4. azemble, cradul

Correct Answer :-

« assemble, cradle

14) Choose the option that is closest in meaning to the highlighted word in the given sentence:
There is a phenomenally large growth opportunity in the organised retail industry.

1. favourably

2. exceptionally



3. expectantly

4. usual

Correct Answer :-
 exceptionally

Topic:- General Mathematics

1) A card is drawn from a pack of well shuffled 52 playing cards. The probability that the card is black and queen
is: /

3l aXg Hhe TR 52 91 & Ul A TS U1 FHropTelt TR | 1 Uit @ o Wi T Ut et 3R S 8
7

1. 13

1
2.E

4. 13
Correct Answer :-
1
26

2) Two circles of radii 5 cm and 3 cm intersect at two points and the distance between their centers is 4 cm. The
length of the common chord is: /

rear s S oyt 3 Wf 919 € 9w, 3 figel W ufufed g1 § auT 3970 sl & g ot gt 4 I+t 31 W=
Sitar #t darg A 8

1.6.5cm/ 6.5 YA
2.7 cm /7 9|
3.6 cm /6 W
4.8 cm/ 8 IH

Correct Answer :-

.« 6cm/6IH

3) If the volume of two cones are in the ratio 1:4 and their diameters are in the ratio 4:5, respectively, then the
ratio of their heights is: /

gfe Y ipaif BT SFUTH 1:4 § Td IAP SR BT 3JUTH HHT: 4:5 8, A D! HAT3U! T AU @ :
1. 25:64
2.5:8

3.1:5



4.5:16

Correct Answer :-

« 25:64

4) If the altitudes from two vertices of a triangle to the opposite sides are equal, then the triangle is: /

afe te RAYs & <1 el & faudta fazmsi @1 Sars ReR it 8, 9 y= 8:
1. Isosceles/wm

2. Equilateral / JHdTg
3. None of the above / SIRIGd H I aﬂ‘s‘ :Eﬁ

4. Right angled / DI

Correct Answer :-

« Isosceles / W@EIE

5) The perimeter of a parallelogram is 40 cm and if the shorter side is 8 cm, then the longer side is: /

TS JUHIGR 94 &1 uivarT 40 It @ 3R afe St Yo & wars 8 At B, @ ot Yo F warg @
1.10 cm/ 10 Yt

2. 14 cm / 14 9HT

3.12cm/ 12 94l

4.9 cm/9 |

Correct Answer :-

e 12cm/ 12 9

6) Which of the following does not have a square that ends in 9? /
Frafafea & 3 frad ot & s & o =18 omar 32

1. 9797

2. 81

3. 433933

4.3723

Correct Answer :-

« 81

7) An electronic device makes a beep after every 45 seconds, another device makes a beep after every 60 seconds
and the third device makes a beep after every 72 seconds. They beeped together at 8:30 am. At what time will they
beep together at the earliest? /

TS SAFEID U7 X 45 BT P 91 AT BT 8, gORT T TR 60 VB S & F1G AT Hdl 8 3R FERT
gas'\rnagﬁ?ﬁ%mam, YT 21 IBI4 AT H UTd: 8:30 Toi 3T P Teg A Seg 9 fpad oot A1y
[ 3T B |



1. 8:50 am / YTd: 8:50
2. 8:36 am / UTd: 8:36
3.2:30 pm / T 2:30
4. 4:30 pm / I 4:30

Correct Answer :-

e 8:36 am/UId: 8:36

8) x +4 =0 is the equation of a line, which is: /

X+ 4 = 0 U Y@ $T HIH 3, ST:

1. Parallel to x-axis and passing through (0, 4) / x-3H& & JHMIR § auT 0, 4) I iR ’I\_rlT?ﬁ H
2. Parallel to x-axis and passing through (0, -4) / x-31& % GHFIAR 8 TUT (0, -4) J BB ToRal &
3. Parallel to y-axis and passing through (-4, 0) / y-3H& P THHIR g aquT (-4,0) I BIHR ﬂTrR_rﬁ ?
4. Parallel to y-axis and passing through (4, 0) / y-3{& & AR % YT (4, 0) B RS Ry ﬂ\_SRT‘ﬁ %

Correct Answer :-

« Parallel to y-axis and passing through (-4, 0) / y-3& & THHIR g quT (-4,0) I g ;!!GR(_‘i ?

9) Ifthe curved surface area of a right circular cylinder of height & cm is 967 cm?, then its radius is: /

afg 8 & 3 vs &9 IlIT IS FT aF TS0 alAwd 96n FHY &, a9 st s
1.4 cm / 4 JHt
2.3 cm /3 9Hl
3.6 cm /6 94U
4.2cm/29H

Correct Answer :-

« 6cm/6IH

10) If2AOQC, 2COB and #BOD together make up 274°, then ZAQC is il
e £AOC, 2COB AT ~BOD U AT 274° & HI0T daid &, d £A0C = Bl

Q4o
L.
2. 84°
3. 86°
4, 1880

Correct Answer :-



11) z p2 2
Ifat+b+e=0then—+—+—=__ /|
bc ca ab

2 bZ CZ

ARG atbte=0TT —+—+—=
c

ca ab

1.2
2.3
3.0

4.1

Correct Answer :-

S

12) The value of 'x'in 7572 + 73 = Y790 is: /
72 2 P = V70 F @ AW

1.7

2.3

3.5

4.9

Correct Answer :-

13) In a parallelogram ABCD if zA =§ £B.then #C =2/
Tdh ARG ﬂﬂaﬁia ABCD #, 3afe 24 =§LB=F|ETLC =7

4, 80°

Correct Answer :-

14) =
R T — : v
The value of ||3_'ql3\, 3+/3..... up toinfinity is A
N

e

! f EN T

3,/3V3V3 ... & #W 3T dh gl
\

1 V3



2. Infinity / 3Fd
3.3

4. 3"@

Correct Answer :-

Topic:- General Logical Ability

1) The sum of the ages of 2 brothers is 50. Ten years ago, the elder brother was twice the age of the younger one.
What is the present age of the elder brother? /

zmnigaﬂerrgaﬂmso%l 9 Y Ugd, TST HTE 379 DI UTS B Y A &Y AT ATI 98 TS BT IH 3
RIGEDE

1. 25 years / 25 a'sf
2. 30vyears / 303’&
3. 20 years / 209y
4. 35 years /35 ay

Correct Answer :-

e 30vyears/30 ay

2) A man spends 88% of his monthly income. If he saves Rs. 360 per month, then what is his monthly income? /

TP AR Ut TIRID 3T BT Pl 88% T B gl ¢ | TG 98 U HIG 360 $UT Y §94d eal §, Al SHD
TR 3 fpa-t 82

1. Rs. 2500 / 2500 ¥YU
2. Rs. 2000 /2000 ¥YTQ
3. Rs. 3500 /3500 ®¥4UUq

4. Rs. 3000 / 3000 4T

Correct Answer :-

+ Rs.3000/3000 %UUY

3) Find the respective ratio in which rice at Rs. 72 per kg be mixed with rice at Rs. 57 a kg to produce a mixture
worth Rs. 63 a kg? /

I IS ATUTd B J1d B, Forad 72 Fue ufa fret amaa #1 57 $ue ufa et ara araa & ary ffames 63
FUT yf fet arer frgror s=man mar?

1.3:1
2.3:2
3.2:3

4.1:3

Correct Answer :-



4) Isold a book at a profit of 14%. If I had sold it for Rs. 18 more, then the gain would have been 18%. Find the
cost price. /

A TH TP DI 14% S AT W 3971 1 A 39 [P D1 18 BUT 3P 1T U 31 ghar o G 18% HT
ATY UTW BT Q&I &1 99 Jod qargu|

1.Rs. 475 /475 24U
2. Rs. 400 / 400 ®UU
3. Rs. 375/375%4U

4. Rs. 450 /450 34U

Correct Answer :-

« Rs. 450/450 %04

5) If 2 men or, 4 women, or 6 boys can finish a work in 99 days, then how many days will one man, one woman
and one boy together take to finish the same work? /

Tfe 2 T3 T, 4 TRETT, UT 6 TSP TP HTH D1 99 {1 § 1 H7 Ivd &, O T e, v aigan ik ua
ASHT I BT DI TRT B & e fpa fg A

1. 105
2. 106
3. 109
4. 108

Correct Answer :-

» 108

6) A train 100 meters long passes a platform 200 meters long in 20 seconds. Find the speed of the train. /

100 HeR T TP YeMSY, 20 AP S A 200 HieT T Th WeHhH ) UR B Al & 1 IS B ATl J1d B
1. 50 km/hr / 50 foralHeR e
2. 52 km/hr / 52 foeiHieR/ger
3. 56 km/hr / 56 foelTHIC/geT
4. 54 km/hr / 54 foqrdex/eer

Correct Answer :-

« 54 km/hr / 54 @ /der

7) Look at the five numbers given below:
851, 743, 624, 319, 298.
If the positions of the second and the third digits in each of the above numbers are interchanged, then which of the

following will be the second smallest number? /

T &t 1€ uiw wEmnai B 39
851, 743, 624, 319, 298.



gfg SR &t 78 TE13i Bt g 3R T T B 39w H Jg fear wran 8, af HiA 3 Hen gadl a9
frea @@ grft?

1. 851
2. 624
3.319

4. 743

Correct Answer :-
« 319

8) In how many different ways can the letters of the word ‘DISPLAY’ be arranged? /
TG ‘DISPLAY’ & 31&RI ®I fora- a¥iop! & rafRyd fovar 5 woan 82

1. 1430

2.5040

3. 4840

4.2410

Correct Answer :-

« 5040

9) Study the following information carefully and answer the question given below.

Eight persons L, M, N, P, Q, R, S, and T are sitting around a circular table facing the centre. Q is not the
neighbour of P or R. M is second to the left of T and third to the right of P. R is third to the left of N, who is to the
immediate left of T. L is second to the right of P.

In which of the following pairs of persons, the second person is to the immediate left of the first person? /

Frafafa et # amyde e o - fa e vy @1 3w T4

TS AR L, M, N, P, Q, R, S, 3R T H% F1 3R G fHU ¢ te Ma I & 36-A1 93 €1 Q, P TR HT USRI
TEIRIM, T & 91 3R gERT 8 3R P F Y IR TRRTIBI R, N F A R TR1 8, S fF 1 F Sip ae §1

L, P & ¢ RT3 |

fFrefafed 5 3 o9 9 a &1 SieT, Ugd afed & Sie a1¢ iR A T aafad 82

1. NT
2. ML
3.RL
4. QS
Correct Answer :-
« ML

10) Eight friends had dinner in a hotel. Seven of them spent Rs. 15 each on their meals and the eighth one spent
Rs. 21 more than the average expenditure of all the eight friends. Find out the total money spent by them. /

33 S A U gicd A I fhari 379 A I 3 3ri_ HISH W 15 3T Ufd & fgame @ @ foar eiv
3Tad 7 21 IUT W (T S 3ma el F 3iad o A Siftre 4TI I9F gRT Wd &1 718 ol AR 71
P



1. Rs. 144/ 144 %4UQ
2. Rs. 148 /148 24U
3. Rs. 150/ 150 %UUQ
4. Rs. 152 /152 34T

Correct Answer :-

o Rs. 144 /144540

11) The ratio of copper and zinc in an alloy is 7:3 respectively. If the weight of the copper in the alloy is 30.8 g.
Find the weight of zinc in the alloy. /

TS iy o1g § SIUR 3R i BT Srgurd HH=T: 7:3 81 afe Fry org W SR &1 a9+, 30.8 AT 8 ot g g o
fSie &1 a9 91 Pifog|

1.13.2¢/132UM
2.122¢/122 99
3.142¢/ 14299
4.112¢g/11.299

Correct Answer :-

. 132¢/1329UM

12) A coin is tossed. What is the probability of getting a head? /

% e P IoTar wrar 8 1 7 @) 3m &t w1 wiikyear 32

N
o | = -

w
L | =

Lh | =

4.

Correct Answer :-

b | =

13) In a certain code, SATE is written as $%#@ and WIDE is written as *@A@. How is DIAS
written in that code?/

v [Af¥ga #i5 &, SATE &7 $%#@ & ® # 3R WIDE & *ca@ & & & fowr
Sl §1 58 #is i DIAS & g user forar Jmeem

| AD%S

, AS%@



3. A#ERD
4. A#@S
Correct Answer :-

AC%S

14) In a certain code DRAUGHT is written as CQBVHIU and CONCISE is written as BNODJTF. How will
PROBLEM be written in that code? /

T A3 ®1e § DRAUGHT &) CQBVHIU & ¥U H 3R CONCISE &) BNODJTF & U ¥ for@r Sirar g1 59
PIS A PROBLEM & 9 ferar simem?

1. QSANMFN
2. OQPCMFN
3. SOENFMN
4. OQKPCDN

Correct Answer :-

« OQPCMFN

Topic:- General Science

1) Which of the following plants are used as bio-pesticides?
(i) Neem (ii) Eucalyptus (iii) Basil (iv) Turmeric /

fFafifad # @ $19 § N9 ST Sleam! & ©u § START {$A o1 §?
(i) == (i) AR (i) et (iv) gt

1. (i) and (iv) only / F=eT (i) Td (iv)

2. (i) and (ii) only / Fad (i) T (ii)

3. (ii) and (iii) only / ad (i) TG (iii)
4. (iii) and (iv) only / Bbad (iii) TF (iv)
Correct Answer :-

« (i) and (iv) only / ¥ (i) TG (iv)

2) The mass of an object whose weight is 98 Newton is: /
TS 9 PT S RRIST HR 98 e §:

1.0.01 kg / 0.01 f3m

2.1.0kg/ 1.0 fa3n

3.10.0 kg / 10.0 fa3m

4.0.1kg /0.1 &

Correct Answer :-

. 10.0 kg /10.0 fopam



3) If a body is in accelerated motion, then the distance—time graph is: /

w19 U o @fva 1fa & gian 3, oY git-9wg 3 g &:

1. A straight line inclined to time axis / FHI & TR Hd Th e} Y@

2. A curved line / T dgh Xl

3. A straight line parallel to the distance axis / Q’ﬂ 318 B FHMIR Th et ¥
4. A straight line parallel to time axis / THI & & AR TH el o

Correct Answer :-

o A curved line /WWW

4) An example of a unicellular fungus is: /

SIS Hach BT TP IGTER0I 8
1. Bread mould / 518 HIts

2. Yeast / ARC

3. Penicillium / UfAfiferad

4. Mushroom / FIREH

Correct Answer :-

o Yeast /‘CﬂE

5) Musical instruments having same loudness and pitch can be distinguished by: /
T yeedr 3R R ard arer 9 9 gR1 ugEe o 99 §:

1. Amplitude of sound / et &1 3

2. Quality or timbre / T[UTAT T <1

3. Frequency of sound / G ot &ﬂq%

4. Intensity of sound / i & dtgar

Correct Answer :-

« Quality or timbre / TJUTT T 1Y

6) Which of the following diseases are airborne?
(i) Typhoid (ii) Tuberculosis (iii) Pneumonia (iv) AIDS /

3 fiwifal #Y g wil argarea 81
(i) 31T 4 (i) T&AT (iii) Fref=ram (iv) Tga

1. (i) and (ii) only / ad (i) 3R (ii)

2. (i) and (iv) only / BT (i) 3R (iv)
3. (ii) and (iii) only / Paa (ii) MR (iii)
4. (iii) and (iv) only / Fad (iii) 3R (iv)



Correct Answer :-
« (ii) and (iii) only / Pad (ii) 3R (iii)

7) The type of energy transformation taking place in a loud speaker is: /

TH AESHIHT § g 9T FHoll uRadd &1 USR T8 @

1. Electric energy into sound energy / ﬁ“c{ga Solf eafy Soif o

2. Chemical energy into sound energy / AHE Sl e Sl
3. Mechanical energy to sound energy / Tif® ol & ot A

4. Sound energy into electric energy / &gt Sl fa q4dd Sl |

Correct Answer :-

« Electric energy into sound energy / ﬁﬂ'ﬂﬂ Sl @G ol J

8) Intermolecular spaces are minimum in

¥ 3 Wﬁﬁwwmél
1. gold / T

2. air /4G

3. alcohol / 3P IEd

4, water / S]]

Correct Answer :-

. gold /T

9) A boxer moves his head backwards when the opponent gives a punch to his head, so as to: /

?ﬁﬁmﬁ%ﬁwﬁm%mwﬁﬂwmmwﬁam%ww

1. increase the impulse / 3TaT aaﬁ & ﬁ'l'q

2. increase the contact time which decreases the force / JU® JHY DI dG)I:I *® 1%111 S § DT HH BT %

3. decrease the contact time which increases the force / HU%h THI BT HH B & 11T oIl I D JeTdl §
4. increase the momentum and decrease the force / ATl &I aaﬁ AR TAFH B P fom

Correct Answer :-
« increase the contact time which decreases the force / W qJHY Ga E_G!'Ief & %I'Q o 9 BT HH BT %

10) Xylem which helps in the conduction of water is a/an i

SITgad St ST & Y9189 § AEE HIdl 8, TP G
1. epidermal ﬁssue/&ﬁﬂ%(?ﬁ@ﬁﬂ)m

2. meristematic tissue / faHsaIa® @ARAR®) SHd®
3. simple permanent tissue /?IT‘(TI'\"UTRITEﬁ Hdd



4. complex tissue /Gﬁ%ﬂ Hddh

Correct Answer :-

« complex tissue /\_rlﬁ?f Hddh

11) Ajay wanted to prepare lemon juice for his friend. He first dissolved 50 g of sugar in 150 g of water before
adding the lemon extract. What is the concentration of sugar in the solution in terms of its mass percentage? /

3STY 3 I & 1T g 1 I IR 11 Trgan 411 g F71 39 ST | Ugd I 150 I 9= | 50 919
At oielt | faera= & it 1 wigar Su& soaaH ufawa & deu A wn gt

1. 40%
2.50%
3.25%
4.33.3%

Correct Answer :-

e 25%

12) An example of a branched cell is: /
TP WITAd HIRDT T ISR 3:

1. Nerve cell / GIEEAIRED]

2. Fat cell / 991 DIRIbT

3. Smooth muscle cell / et u=ft ST
4, Human RBC / HIHd KIREIS|

Correct Answer :-

« Nerve cell / RIECAKAIEED

13) Which one of the following subatomic particles actually takes part in chemical reactions? /

SU-IRAT UGS SNt § f7 & & 1 91 T araa & Ivmafe sfifhars & HiT dr 82

1. Only neutrons participate in chemical reactions / Fad QE'T'_‘T e sfiferarss o Ui ad %I

2. Only electrons participate in chemical reactions / FHad Ea_CIEj:T IaA® fffearsi H HHT ad %I

3. Only protons participate in chemical reactions / $Had Ui IS sifufdars § Ui ad %I

4. The protons and electrons participate in chemical reactions / qler 3R ‘s’?raﬁ:l e sffearst o YFT ad %I

Correct Answer :-

» Only electrons participate in chemical reactions / WE@EE:F[ INaA® ffearsi H YHT ad %I

14) In the given nuclear reaction #2Po — *LPb + X, what is X? {

&r 15 AfddE AT 25pe— 2lph + X X FT 2
1.Neutron/:q3:\|l:f



5. t-Particle / y-=hUT
3. o-Particle / a-ahoT
4, p-Particle / p-ohoT
Correct Answer :-

o o-Particle / a-2h0T

Topic:- General Computer

1) In MS Word 2010, which tab consist the option of changing the background colour of a page ? /

THYH TS 2010 §, FrefafEa # 9 o 09 & 03 0 & d9UTSs SR o aga- ST 1w W1TH graT 82
1. View tab / aﬁa

2. Home tab / _bﬁ'q %a

3. Page Layout tab / U d3f3e oq

4. Insert tab / 37\‘4_6 |

Correct Answer :-

« Page Layout tab / Ul A3MTIC e

2) In MS word 2010, shortcut key to save the file is: /
THTH T8 2010 §, BI5A B A9 B3 & fog Aidwe Hoil 8:
1. Crl+S

2. Ctrl+D

3. Alt+D

4. Alt+S

Correct Answer :-

o Ctrl+S

3) What is the total number of view option present in MS Word 2010? /
THTY 78 2010 H HN[g o TR B HoT TSI T 82

1.3

2.4

3.6

4.5

Correct Answer :-

4) In which bar of the MS Word 2010 will the total number of pages, word count and language used will appear? /

THTY T8 2010 & 5T IR & YN} &1 $o =T, Jeg TUHT SR Ta UTHT B SRITAT ST



1. Scroll bar / &hid IR

2. Menu bar / fF"LW

3. Quick Access Tool bar / fod TR cd dR
4. Status bar / ¢ IR

Correct Answer :-

« Status bar / %cH R

5) How many types of default bullets are present in MS Word 2010 (Except None)? /
THTH T8 2010 H fran yoR & fEwiee gae (9 HI BlsH?) Hivg ia & 2

1.8

2.7

3.6

4.5

Correct Answer :-

6) A displays information in visual form, using text and graphics. /

w TR 3R TP T ITANT HF fagerd v & TR welkfa Har 3|
1. Monitor / HIHIexX

2. Keyboard / 18IS

3. Printer / ficX

4.CD / HiSl

Correct Answer :-

« Monitor / ATHIER

7) Among the following which one operation is not performed by the Insert tab in MS Word 2010? /

THEY 98 2010 §, fFuferfaa & @ g ue STuR=H &) 50 29 gRT "diferd A8 forar sirar 82
1. Different way of viewing a document / WW?WW ST AT

2. Adding a bookmark / T g,CbHIOF) ﬁ_s' DAl
3. Adding page numbers / ¥ =T Q_ér DAl
4. Creating a link to a web page / Ydh 99 U & fore e fofes s

Correct Answer :-

« Different way of viewing a document / Udh @';}I'_CI@_C’ ST BT T ARADT

8) Which of the following is input devices? /



1. Monitor / A1
2. Printer / fiiex

3. Scanner / TR
4. Plotter / WICX

Correct Answer :-

« Scanner / ¥R

9) In MS Excel 2010, the shortcut key to apply or remove underlining is: /
THTH TR 2010 H, ST B A1 H 91 geM & e Aidwe Foit 3:
1. Ctrl+4

2. Ctrl+3

3. Ctrl+2

4. Ctrl+5

Correct Answer :-

o Ctrl+4

10) In MS Excel 2007, will highlight cells that are greater than, less than, between or equal to values
that you can specify in the Conditional Formatting. /

THEH TR 2007 H, HS I GRS H 3y gRT Ay A4 @ 92, B, 39F o9 a1 394&
U Al B gIgaAIse S|

1. Icon Sets / 3THIF T
2. Colour Scales / HTR THeq

3. Highlight Cells Rules / BT3ATSC Yo e
4. Data Bars / ST §19

Correct Answer :-

« Highlight Cells Rules / ST3ATIC I &

11) In MS Excel 2007, date format can be changed from: /
THTH THd 2007 §, f&Ai® wide o a81 @ gga1 o 9ol 6:
1. View tab / 3 &

2. Home tab / BH |

3. Insert tab / ET\‘T(.; %TQ'

4. Review tab / ﬁﬁqﬁ‘q’

Correct Answer :-

« Home tab/_bﬁ'q%a



In MS Excel 2010, electronic spreadsheet as a large piece of paper is divided into: /

THTY THT 2010 H, BT & TP IS ghe & ©U | saaei-e Seie o fFa & fyuifoma far wmar 3:
1. Multiple boxes / HeUd Slarl

2. Rows and Columns / 1 3R Hreret

3. Lines and Rows / T8I 3R 3

4. Lines and Columns / @ 3R SHicrd!

Correct Answer :-

« Rows and Columns /3 3R Bl

13) CANCELLED

In MS Excel 2010, what is the function of “Count Numbers” in AutoSum group? /
THTH TR 2010 H, SATTTH JU & "HIEe A8 BT SR 1 82

1. Find the total number of objects in a group / Udh HHg L} aﬁ\}ﬁ Gl P AT T BRAT

2. None of the above / maﬁ e aﬂé :ﬁ:f

3. Compute the sum of a group of numbers / s & Udh JHg & GRT D1 0T HRAT

4. Compute the average of a group of numbers / st o TH e % 37d P T HRAT

Correct Answer :-

« None of the above / mﬂﬂﬁ@faﬂé:{ﬁ

14) From the given formula, X? + Y2 what does 2 appear to be in MS Word 20077 /

few aw 77 X2+ ¥? #, vAvw ad 2007 # 2 f&w w0 A fegarn 2
1. Topscript / cIfeny
2. Subscript / W
3. Upscript / 3Ufepy
4. Superscript / W

Correct Answer :-

« Superscript / W

Topic:- Civil Engineering

1) The condition of the land where the water table is at or near the ground level and becomes detrimental to the
plant life is called as .

%i&raﬁagf@rﬁr,as%mw,@wwmmmﬁ,aﬁa@ﬁ%ﬁ%ﬁﬂ%mmﬁm
) Fearargl

1. super saturation / \’rlﬁ‘mﬂ'ﬁ?l

2. flooding / dlg 3HTHT

3. seepage flood / framE & R dig



4, waterlogging / Ul &bl STH1d

Correct Answer :-

« waterlogging / Ut &1 STETd

2) What is distemper? /
SR T
1. It is a paint consisting of powdered chalk, pigments and water. /
7 U Ue B s ure e 91, aufe ofR ot fAfRd S 1
2. It is a paint consisting of coloured cement and water. /
7 U e & Forer i Widfe oiR U i Sk 21
3. It is a drying agent. /
U8 T b Toic & |
4, It is a water proofing agent. /

g TP o e Toic g |

Correct Answer :-

« Itis a paint consisting of powdered chalk, pigments and water. /

78 Ue G § s urss =, auies 3R Ut RiRd giar gl

3) Imaginary lines joining equal ____ is known as isohyets /

3 PTUS Y@, N HAF ____ S Siisdl 5, GATYY Hgardi ol
1. height / G-»'_zl'l_‘éc

2. humidity / 3M&dT

3. rainfall / I8T

4. pressure / qId

Correct Answer :-

« rainfall / 8f

4) Name the type of sheets which has both everite big size and everite standard. /

fte & W YHR T A1 Fa1s¢ Rrad garTge forT A1ge aut savTse wRuss Al g §1
1. Slates only / HId Wie

2. A.C. sheets only / Faqa U 4. 2ffe

3. All of the above / STGad Taft

4. G.1. sheets only/m\?ﬁ. IS, At

Correct Answer :-

« A.C. sheets only / WQ. ). e



5) Fluids change the volume under external pressure due to: /
R STET 19 U IR A & $ROT 3 sgad 8:

1. Plasticity / gI&Idl

2. Elasticity / UATRIdT

3. Viscosity / Tl

4. Compressibility / SUeddr

Correct Answer :-

« Compressibility / SUtSId

6) A pipe which carries discharge from water closet is called as .

7€ UTgy e 2ueR A e areht et yarfga @i g, FEATaT S|
1. soil pipe / HA-Td (EV'IE?T EIER)]

2. drain/ %7'[

3. sewer / TlaR

4. waste pipe / 3T UIgY (é%‘:’ BIEL)]

Correct Answer :-

. soil pipe / HA-Ad (FIgd UIY)

7) Give an example for flaky shape of aggregate. /

TiHle @1 IRAeR ATHIA BT TH ISIET STl
1. Pit sand / fe &8

2. Crushed rock / %8 b

3. Blown sand / & T8

4. Laminated rock / A S Ak

Correct Answer :-

« Laminated rock / QfEHCS b

8) Wall constructed to carry a load of above structure is .

SRS IWANPTIURATA S MU AR T farRH_ dga 7l
1. Load bearing wall / @S foaf dlar

2. Partition wall / UTETRH ElaR

3. Parapet / URT0<

4. Cavity wall / BIe-f4RT (Hfad ara)

Correct Answer :-

« Load bearing wall / 918 foaR lar



9) A shaft of diameter ‘d’ and length ‘I’ has been loaded axially, the ratio of change in diameter to the original is
called ./

gfe Ry ' 3R TS 1 BT e &g wu A as forar mar 8, Y o uRad= ok ga ama & S &t
AqUId Pyl

1. Longitudinal strain / &Ia%?ﬁﬁ?ﬁl

2. Shear strain / U= ﬁ?ﬁ

3. Lateral Strain / mm

4. Volumetric strain / 31 fdgpfd

Correct Answer :-

« Lateral Strain / Wﬁﬁﬁﬁ?ﬁf

10) IS 1893-2002 is related to resistant design of structures. /
IS 18932002 i Bt Aeh fEomg @ Jeafua 21

1. Fire / 31T

2. Termite / &

3. Earthquake / HbU

4. Cyclone / déhdld

Correct Answer :-

« Earthquake / HobU

11) Coal based thermal power station pollute the atmosphere by adding ./
Fraen e a fgga F= ) frares arararor &t ugfa sear 21
, NO: and SOz /NO; 3R 02

, NOx, SOz and SPM / NOx, SOz 3R SPM

5. NO;. SPM and CO / NO:, SPM 3K CO

4 NOx, 502, SPM and CO / NOx, SOz, SPM 3R CO

Correct Answer :-

NOsx, SOz, SPM and CO / NOx, SOz, SPM 3R CO

12) In some of the modern theodolites, the internal focusing telescope have additive constant equalto ./
$O NYFIP Fder Sudvl (RAEISIangel) #, 3ia® Plea A aA ReA & & sRIaw walsht
fraaie grar 31

1. 100

2.0

3.1

4.5



Correct Answer :-

13) According to Khosla, the exit gradient of the surface flow: /

I & R, Y53 WaTg 3t (-9 yaorar:

1. None of the above / G'CI'*EIHH =) ﬁ’sﬁ '_-@f

2. Depends upon b/d ratio / b/d SJUId U AR ot %I

3. Is independent of the b/d ratio / b/d 3FIUTd ¥ WA gl g

4. Is independent of the depths of d/s cut off walls / d/s < G‘I'IV'CI’7 a'\l’?\‘:[ &t TIETI’% a ESSE a?ﬁ %I

Correct Answer :-

« Depends upon b/d ratio / b/d 3{Uld U AR et %I

14) According to the working stress method, the modular ratio between steel and concrete is: /
o ufaea faf ¥ SR, Wha td dwie & Ueg WU & SuTd 8T 3:

280
1. 3ocbe

280
> 0.450che

280
3. Sache

250
4. 0.450¢chc

Correct Answer :-

280

. 3ochc

15) In mix design the proportion 1: 2:4 means: /

ffta feemsa &, erqurd 1: 2:4 ST A= Srf g &:

1. 2 part of cement is mixed with 1 part of sand and 4 part of coarse aggregate /
2 YRT HHHE DI 1 YT 9 4 YRT AT St & i S

2. 1 part of cement is mixed with 4 part of sand and 2 part of coarse aggregate /
1 HIT HC BT 4 HIT XA T 2 HIT HICT AST H Bt ST

3. 1 part of cement is mixed with 2 part of sand and 4 part of coarse aggregate /
1 4T HHHeE BT 2 YFTIA 9 4 HRT AT ISt & fAramr S

4. 4 part of cement is mixed with 2 part of sand and 1 part of coarse aggregate /

4 YRT A DI 2 HITIA 9 1 HRT AT St & firaman S

Correct Answer :-



« 1 part of cement is mixed with 2 part of sand and 4 part of coarse aggregate /

1 HIT HHHeE DT 2 YFTId 9 4 HRT AT St & A S

16) Maximum reinforcement in a beam of width b and depth D should not be greater than _____ ./
WSTS b 3R TERTS D el ¢RA (J§1) BT I=aH Uaed (Rewiede) @ aifte T8t g =nfRul
1.0.06 bD

2.0.08bD

3.0.05bD

4.0.04bD

Correct Answer :-

« 0.04bD

17) Plate load test is used to determine: /

wie drs o¥e e & fFrutor & forg fasar siran 3 -
1. Depth of foundation / ia &t TI_E"Tlé

2. Building dampness / 4= @1 TH!

3. Thickness of pavement layer / W P IR B Ih?lg
4. The bearing capacity of the soil / Hal DI YRUT &

Correct Answer :-

« The bearing capacity of the soil / Jal DI YR &

18) Webster design method used in: /

davex fEwmg faft o1 Suah foer & fara wimar &:

1. Method of speed studies / Tfa & sl &t fafd

2. Determination of road capacity / ISP DI &aT & Yo
3. Design of Transition Curves / @'ﬁﬂ"x’ﬂ e EaRCIES]

4. Design of Traffic Signals / ATdR—ITd Rral &t fewmea

Correct Answer :-

« Design of Traffic Signals / AT R-al &t fEwTgA

19) Surface tension has the units of ./
USS a9 & B gPT3AI Bl ol

1. Force per unit mass / ufd WI?E SSIHT ddd

2. Force per unit volume / ufa Wlé A dcf
3. Force per unit length / Ufd 3hTs daTs §d

4. Force per unit area / ufa Wr&r' W CR|



Correct Answer :-

» Force per unit length / ufd EEFI% ?“WI'&F o

20) Methemoglobinemia, the ‘blue baby’ syndrome is caused by consuming water containing excess of )

_ t iftrpar I oI $t WU S SRUT ASHARA ST, < a4 T&01 Far g
1. Nitrate / T3¢C

2. Nitrite / ATSCIIC

3. Phosphate / TIEhT

4. Fluoride / TRIRTSS

Correct Answer :-

« Nitrate / :usaa

21) If rail length is 13m and the sleeper density is M+4; how many sleepers would be required in 1 km length of
the track? /

gfe gedt Ht dars 13 Hex 8 3R TR 371 999@ M+4 8; 9 TH ) F 1 fHh F) dars & fraq who) 3t
STILIH AT gII?

1. 1539
2. 1308
3. 1692

4,723

Correct Answer :-
o 1308

22) To avoid lateral skidding and overturning on a horizontal curve, the centrifugal ratio should always be less
than i

WWWWWHWWQW%W,WWW A HH AT
|

1.e0nly/a’7ﬁ1'e
2.fonly/aﬂaf

ionl}f ! E\ﬁ!ﬂi
3. 2h Ih
b b =
Both — and f / — T f &
4 7h 7h

Correct Answer :-

Bothjiﬂlldffr — dam f g=r

23) When both ends of a column are fixed, the crippling load is F. If one end of the column is made free, then value
of crippling load will be changed to .



9 TP WY & gl RRY &1 FRR far wirar 8, @t i ats F giar 81 afe wy &1 v RR1gaa ots fear
1T 8, A Fopf@i dts &1 1 sgase P fear s

24) When a brick is cut into two halves longitudinally, then one part is called ./

Id U 3¢ ) TS o1 iR e U A i A Preroars, ite UMisdl_ FeiwEr gl
1. Queen Closer / 1 FaloR

2. Mitread Closer / fed1S FoR

3. King Closer / {71 gaioR

4. Cornice Brick / ®I-9 fid (3¢)

Correct Answer :-

« Queen Closer / B9 FAGR

25) A rectangular channel section is most economical when the depth of flow and bottom width is in the ratio of
—

TP AR I WS a4 fPBradl gar & 7 yarg &1 Tews iR aa s dsrs ua A gl 81
1.2:1

2. 1:1

3.1:2

4. 1:4

Correct Answer :-

26) What will be the Minimum size of fillet weld if the plate thickness is less than 10mm? /
gfe we ot "iers 1070 & $1 8 di firde dws &1 gHad TSR F1 g2

1.6mm/6 ot

2.3mm/3 ot

3.4mm/4 oy

4.5mm/5 oy



Correct Answer :-

. 3mm/3ﬁ|'5ﬁ

27) What is Poisson’s ratio for normal concrete of Strength Design & Serviceability Criteria respectively? /
HURT: oI fESS 3R a1 TFTal AFES & AT Hpic & fore @il SruTd o 82

1.0.16 & 0.3

2.0.12&0.1

3.0.15&0.2

4.0.15& 0.4

Correct Answer :-

e 0.15&0.2

28) What is the thickness of plastering provided for underside of R.C.C. work? /
IRARA (R.C.C.) FTE & A B SR fpT 9 910 Wi &5t HieTs Tt gidl 82
1. 6 mm

2. 12 mm

3. 20 mm

4.3 mm

Correct Answer :-
e 6 mm

29) What is the net quantity of plastering required for wall measuring 10.5m length, 12m width and 12mm thick
with an opening of 1.2m x 1.0 m? /

1.2 H1eR x 1.0 HexT & g areft 10.5 Hex o, 12 Hiex NSTE 3R 12 faft Mers F Ay areht ar & o
SIS R B [ AT T 82

1.129.38 Sq-m / 129.38 T Hex
2. 123.80 Sq-m / 123.80 I Hiex
3. 132.43 Sq-m / 132.43 @ Hiex
4. 155.50 Sq-m / 155.50 & HeR

Correct Answer :-

« 123.80 Sq-m / 123.80 & He?

30) What is the net quantity for brickwork of thickness 0.23m for a 10 Cum, having two openings of 1.2 x 2.1 m
and 0.9 x 0.9 m? /

1.2x2.1%’!2?@?0.%0.91112?%53}1%@'31%@510%%%%0.23&?%@3&&%@%%&1@
HEAT 1 82

1. 9.81 Cum



2.9.63 Cum
3.9.42 Cum
4. 9.23 Cum

Correct Answer :-

e 9.23 Cum

31) What type of cross drainage worKk is provided when the canal runs below the drain, with FSL of canal well
below the bed of the drains? /

5T YR FT HTH IS BTH Y fFaT W11 8 9iF T, 39 & 98 & -1 3} avg | eX & (huHud &
1Y, 39 % 412 varfed t 22

1. Aqueduct / fdpsae (?ﬁq Sic %)
2. Level crossing /a?ﬁ’f IR

3. Super passage / JUX T

4. Siphon aqueduct / I W

Correct Answer :-

« Super passage / JUX bRT

32) For a cinema hall the number of W.Cs required for femalesis ./
R gt & forg afgensii & R smazgs westden g1

1. 2% upto 200 and 1% thereafter / 200 AP 2% 3R ddld 1%

2.2%

3. 1%

4. 1% upto 200 and 2% thereafter / 200 db 1% 3R TTYTT 2%

Correct Answer :-

« 2% upto 200 and 1% thereafter / 200 AP 2% 3R ddaYld 1%

33) For glazing clay product, at what temperature sodium chloride should be thrown into the kiln? /
T ) & Iare & fore, Qifsaw wRigs &) frd aruw wR g o sTar ST 9niee?

1. 100 - 130°C

2, B00—720°C

3, 1000 - 1300°C

4, 3000 - 3500°C

Correct Answer :-

. 1000- 1300°C

34) If W is the weight of the chain, L is the span and P is the tension or pull, then the sag correction of chain line
will be: /



gfg WA BT UR B, L 3@f¥ § 3R p a119 a1 G g, df A9 d139 BT AT JYR -

4, 24P

Correct Answer :-

35) As per IRC the maximum width of a vehicle shouldbe ./
TSR F IR, TP a1 Bl ifipau ey g =nfdul
1.3.8m /3.8 HI&X

2.2m/ 2 Hex

3.1.58m / 1.58 HIcX

4.2.44m / 2.44 HicY

Correct Answer :-

o 244m /2.44 Hiex

36) As per IS:800-1984 specification, how to calculate the gross diameter of a bolt? (If diameter of the bolt is less
than or equal to 25mm.) /

15:800-1984 fAfNE= & IR, T dee & THd A B TUFT HQ B o1l 82 @f diee &1 o 25 ekt &
TR T 3TQ FA AT 21)

1. Nominal diameter + 2mm / \’rlﬁ-ﬂ%ﬁ Y + 2 Tt

2. Nominal diameter + 2.5mm / erlﬁ-f%a N + 2.5 fo,
3. Nominal diameter + 1.5mm / 3fHfgd T + 1.5 o,
4. Nominal diameter + 0.5mm / 3{fHfed T + 0.5 fHa.

Correct Answer :-

« Nominal diameter + 1.5mm / &rﬁn%aaqw + 1.5 T,

37) Two horizontal plates are placed 2cm apart, the space between them being filled with oil of viscosity 10 Poise.
If the upper plate is moved with a velocity of 2m/s, the shear stress in the oil would be: /

3l afowr @ 2 A, #Y g IR Tl 1S &, 3P A & HARTA P 10 UISH 19 A A URT 1T 21 afe S
we 21/, & 3T A TATs ol §, 9 99 H SITUP ufded = gm:

1. 300 N/m?



5 150 N/m?
3, 200 N/m?
4, 100 N/m?

Correct Answer :-

38) Super built up area is defined as: /

IR faee 3 v & 39 R aRuria farar man :

1. Built up area minus wall area / foee 3@ 1QﬁTIT 7Y arid Qﬁtﬂ YUCTh

2. Summation common area and carpet area / HIAT Qﬁtﬂ 3R HRUC Qﬂtﬂ BTN

3. Summation of carpet area and wall area / HRUC Qﬁ’cﬂ 3R afd 12'[3\"?3” T

4. Summation of built up area and common area / foee 3@ Efﬁtﬂ 3R B Qﬂ'ﬁﬂ BTN

Correct Answer :-

« Summation of built up area and common area / faee g ufan 3R B QIR HT AR

39) If the coefficient of friction is assumed zero, then the equilibrium superelevation required to counteract the
centrifugal force fully will be given by: /

ﬂﬁugwwgunﬁmaﬁmﬁmm,aamﬁaamwwﬁﬁﬁuaﬂﬁa?maﬁmwm
36 &:

1. 9R

N
= -]

rH
3, 9R

v!
4. B

Correct Answer :-

40) If the error in the measurement of head in a V notch is 1 %, then the error in the measurement of discharge
will be /

RvERATMIFaTTH 1% FRe 3 AFdeaFamadze & h
1. 2%

2.1%

3.1.5%

4.2.5%



Correct Answer :-

o« 2.5%

41) If the back sight and fore sight distance are kept equal during levelling observation, then the effect of both
refraction and earth’s curvature will be ./

i FAAABUT U&0T P SRT-T UL T 3N 317 TG g SRR T 7l €, ot gl Sraad 3iv gt
Thal BT YHTT BRI

1. Zero / YA
5. 0.06735 d? meters / 0.06735 & Hiex

7 2 -
d” meters / Ed‘ HieY

| b

3.

4, 0.057 d? meters / 0.057 &2 Hex

Correct Answer :-

42) Which of these is not included in building codes? /
9 9 oI w1 Frwfor get § wnfire w6t 8

1. Safety / {R&T

2. Structural integrity / IRATHD FHAA!

3. Mechanical integrity / TifAd Fuuar

4. Employment / ISR

Correct Answer :-

« Employment / ISR

43) Which of the following could be used for fixing the arbitrary direction? /

wfsd fezn #1 R w3 & fog Fafafea | @ feaer suai fear s wea 32
1. Top of chimney / ot o1 <

2. Road / IS

3. River / adt

4. Moving train / ERGIES]

Correct Answer :-

« Top of chimney / IELEIEZRLN

44) Which of the following is best instrument for measuring the velocity of a stream flow? /

frfafaa & 3 S 91 97 YR A & 37 F A1 & e watfte Suge 32
1. Pilot tube / UTeIC &[F



2. Price’s current meter / U195 ] HIC Hiex
3. Surface float / IHY TC
4. Sub-surface float / J&-THY Tl

Correct Answer :-

« Price’s current meter / UTSH T HRC Hex

45) Which of the following forces will occur, when a vehicle moves on a curve?

1. Weight of the vehicle
2. Centrifugal force

3. Perpendicular force

4. Volume of the vehicle /

W9 TP dTe+, TP d5h UR I Bl § ol ATad § | I A1 a0 S~ ghm?
1.dTg DT HRR

2,35 g

KASCK |

4.dTg T AR

1. Weight of the vehicle and centrifugal force / A8 T HR Ud Y

2. Perpendicular force and volume of the vehicle / T S dUT A8 BT AT

3. Perpendicular force only / &Had dd g

4. Volume of the vehicle only / PHad dle- hT AHIdH

Correct Answer :-

» Weight of the vehicle and centrifugal force / dIg bl HR Tq e«rqﬁ dd

46) Which one of the following compounds is responsible for quick setting of cement? /
Frafafea & 9 f5a saua & R Hide @id w0 9 d¢ g1 T g2

1. MgO

2. 5i02

3. Fex03

4, Al203

Correct Answer :-

47) Which one of the following filters will produce water of higher bacteriological quality? /
fFrefafaa o @ o1 a1 free, 3= Sharvdia Turawn arer Sd Ue™ Hm?

1. Slow sand filter / Hg STl F&ic®

2. Rapid sand filter / gl mﬁw

3. Rapid sand filter / didl §T¢] (ARiG®H



4, Trickling filter / Eﬁffmw

Correct Answer :-

+ Slow sand filter / Hg ST¢] A&igH

48) Which estimation method is suitable for different thickness of walls and different level of foundation? /

faft=T dters arelt $hart aur <fig # fafi= TRl & fore A o @ 19 W e ot faftr sugea 32
1. Long wall short wall method / ot laR BICT SR fafy

2. Centre line method / A& X7 fafdy

3. Partly centre line and partly cross wall method / iR Heg a1 a7 3ifrs 31t dlar fafy

4. Predominant estimate method / T 3{Tai fafd

Correct Answer :-

o Partly centre line and partly cross wall method / iR Heg a1 a7 3w \?rﬂ@:f alar fafe

49) The main stabilizing force for a gravity damis ./
Tod diY & o gor Rtz sa 21

1. Wind pressure / Al ald

2. Uplift pressure / S&IT Gl

3. Water pressure / ST Gl

4. Self-weight of the dam / STY T UI-GoI

Correct Answer :-

« Self-weight of the dam / §T¥ T UT-TI

50) The safe stopping sight distance is determined by: /

JATAIH & IMYR TR TS 1 GRI&d gt §9& gRT Fuiiva i st 8:

1. Multiplying lag distance to the braking distance / P A B Q‘ﬂ ¥ R @ Call o Casa
2. Adding lag distance and the braking distance / S A B @ 3R 3faRTa @ Eal Gh@m

3. Subtracting lag distance from the braking distance / S A B @  fRTd @ DI UCTHR
4. Dividing lag distance by braking distance / b T DI @ GRT 3[R @ DI fquIiord axds

Correct Answer :-

» Adding lag distance and the braking distance / S T DI ?R)f 3R 3R @ Bl Sl[Sh

51) The instrument used to compute area of irregular shape marked on paper is known as: /

PN R fafga sifrafia sneR & &7 3t T B+ & g Iuai fosan s arer U §:
1. Passometer / TTAHICR

2. Planimeter / THIHICY

3. Pentagraph / YT



4. Pedometer / USIHICY

Correct Answer :-

« Planimeter / WA

52) The structural member carrying a compressive load in a truss is called as .
=g ¥ Hite® YR &1 a8 H aTdT IS 3aad A2 |

1. batten / S

2. lacing / ARfT

3. strut / ¥gC

4. gusseted plate / HITOTRT e

Correct Answer :-

53) The ring and ball test is used to determine the of bitumen. /

fSgie & 3! fruffea v & forg fi v afa e &1 I fBar smar g1
1. specific gravity / WW

2. flash and fire point / TR SR S ﬁ_g"

3. viscosity / UTdI

4. softening point / g ﬁ'g’

Correct Answer :-

« softening point / g ﬁ_‘i{

54) The area of base plate required for a slab base to carry a factored axial load of 1200 kN considering M20
concrete is: /

M20 Hbie TR fIaR Hd §T 1200 kN F1 Haed TfRaad @S 96 3 8g T o & g a9 wie &1
AT H A% -1 §:

1. 13.33x 10*mm?
2. 6% 10%mm?
3, 10.55x 10*mm*
4. 12x 10*mm?
Correct Answer :-

13.33 % 10"mm?

55) The constant head permeameter is used for determining the permeability of .

P IR & Ayl & fore sikd e g ufifardier &1 Sua fear srar g1
1. Clayey silt / b1 fog) o e



2. Coarse grained soils / ¢ AGR Ha q

3. Silty clays / TTagdd &I?[
4, Organic soils / Sfas Ha q

Correct Answer :-

« Coarse grained soils / G GR Ha U

56) The IS code of Practice for Prestressed concrete is: /

gd ufaafea Fwie (TRews 31¥) & g snsud s oifts ffded giar 3
1. IS 10262

2.1S 1343

3.1S 2210

4. 1S 456

Correct Answer :-

« IS 1343

57) The capacity of doing work by an skilled labour in the form of quantity per day is known as : /
wfd faT am1 & U 8 U $a 4TS RIS B B &Hd1 B 59 g ST o7l 8:

1. Day work /m Eap]

2. Out turn work / TG HHAT BT

3. Labour per day / 4H PIGACE

4. In turn work / IR S| PR m

Correct Answer :-

« Out turn work /Ww?ﬂ'ﬁf

58) The basic form of a truss is a: /
T T A &9 = 8

1. Straight line / HTe X

2. Rectangle / 3 d

3. Hexagon / W'UT

4, Triangle / IEEAL

Correct Answer :-

o Triangle / ECILI

59) The slope of the road pavement in the longitudinal direction is called: /

TSP $ WS BT guIiaid fa=m & gar = deamar a:
1. Alignment / ESREGIY|



2. Saddle / H&d
3. Altitude / S=IdIR
4. Gradient / QIEQE (YdUIdn)

Correct Answer :-

. Gradient / UfST= (Uqurdn)

60) The deformation of the shape of bricks caused by the rain water falling on hot bricks is known as .
T el W auf oa ve @ gei A fagpfa e ot F U W JHET AT 2

1. chuffs / Tl

2. blisters / I

3. shear cracks / 3{URSUU] GRIR

4. efflorescences / 3P el

Correct Answer :-

o chuffs /dcdl

61) The outer projecting edge of a tread is termed as____ ./
AU UIE F TN MR PR @1 Ferwmar gl
1. pitch / T

2. scotia / Il

3. nosing / :ﬁﬁm(:nw)

4. soffit / YRS

Correct Answer :-

» nosing / :h'[\ll‘i"T(qu)

62) The ratio of daily BOD load applied to the aerator system in gram to total microbial mass in the system in
gram is termed as ./

anaﬁwséﬁaﬁaﬁ%ﬁ?m])wmmﬁ)mwm-ﬁﬁwﬁ&mﬁﬂmﬁmmﬁﬁamﬁ
Pedidizl

1. volumetric BOD loading / 3‘F\F|Tq3f BOD W&
2. F/M ratio / F/M SHJUId

3. aeration tank loadings / dld- Eﬁﬁf Qe

4. sludge age / U (¥9T) 3

Correct Answer :-

« F/M ratio / F/M 3{Uld



=1 g & oY Stet &1 ara fhar S g -
1. Dissolved gases / Elfﬂ EEF e

2. Hardness / B Rl

3. Colour / T

4. Turbidity / TG

Correct Answer :-

« Dissolved gases / ﬂ?’ﬂ E_'ic T

64) The total depth of a R.C.C. slab is governed by: /

AR wie t Fot TeTs 19 gRT Frifa &:

1. The serviceability requirement of the deflection / 98T & Yog-eMd HI SaRaaddl
2. The loss of equilibrium / ARIGRIT DT JH AT

3. The resistance to the accidental stresses / GHeff&lﬁ ufdsd o1 ufoRly

4. The stiffness of the concrete / I DI BRI

Correct Answer :-

« The serviceability requirement of the deflection / a8 ! Yog-emdr &1 Sawadmal

65) The per capita water demand per day for a small town of one lakh is 125Lt and the alum dose required is
30mg/Lt. the total quantity of alum required per day is: /

TS ARG Pt ATET) a1 B e | ufa safery wfa fa1 1250 ureit Y 1wy @ Sk worw (Rhes ) 3t @ues #t
HIT 30mg/Lt. 81 Ul o1 vaw 9t pa ai A= @

1. 350 kg
2. 425 kg
3.375 kg

4.400 kg

Correct Answer :-

66) The phenomenon of raking out of joints to fill with mortar to protect joints from adverse effect of atmosphere
is known as i

?ﬁawﬁwﬂumﬁﬁ@ﬁaﬁﬁﬁ%ﬁmuﬁwﬁmﬁ%ﬁmﬂhﬁaﬂ%ﬁmmw Hgardr
|

1. pointing / U:I'IE'%‘T

2. raking / T

3. white washing / gTgC ClIR]
4, plastering / IR

Correct Answer :-



« pointing / WrgieT

67) The arrangement made to prevent entry of water at the site of pier construction is known as .

TeaU U F AT RER U FRTFAAFIH I RUA Eoaarn . FAWIAFHI A I
1. Cofferdam / HIHSTH

2. Caisson / STI™T

3. Earthen dam / fHE) 1 9y

4. Weir / §1Y

Correct Answer :-

« Cofferdam / PTHSTH

68) Hold fast iron straps bent in the form of which of the following English capital letter at their ends? /
frfafaa & 3 e el & Fiied sier ¥ 9 givs BRE TR W d¢ giar g2

1.7

2.T

3. M

4.L

Correct Answer :-

4

69) In Mohr'’s stress circle, the co-ordinate of center is: /
HeR & a-1a e §, F5 BT 20 g 8:

(o1+03)

3, (61-63)
4, (6l+03)

Correct Answer :-

70) A tough and moldable thermoplastic used in the manufacture of plumbing pipes and furniture is: /

ST uTgy SR WeiTeR & Ao & IugiT fomar S a1el U Aeiqd SR ST ST b aTeT YHiare &:
1. Polypropylene / m
2. Polyethylene / W?—ﬂg?ﬂ:f



3. Poly vinyl chloride / Uicil [d-1Sd RIRTSS
4. Porcelain / TRIGH

Correct Answer :-

« Poly vinyl chloride / UTeil fa 1S RIS S

71) 1In a tri-axial test carried out on cohesion less soil sample with a cell pressure of 20 kPa, the observed value of
applied stress at the point of failure was 40 kPa. The angle of internal friction of the soil is .

20 kPa & IA URR & ATY VAS-RIgd eI ufdesl W fru o ara A-siefia wdiemr §, fAvaar & fig w®
T TR Ul BT A 40 kPa @b d f6aT 71 YT & i auur &7 HioT gl

1, 10°
2. 25°
3. 15°
4, 30°

Correct Answer :-

. 30°

72) Hydrographic surveys deal with the mapping of: /
SreTy feror wasdt adaor & T ufafeor ghar 8
1. Climatic systems / WWﬂ?ﬁ
2. Mountainous regions / q@'l—épf &l

3. Heavenly bodies / Ty fust
4, Large water bodies / El% ENAREaRI

Correct Answer :-

- Large water bodies / CEASNAGEAR]

73) A foundation is considered to be shallow, if its depth is ./

TS Hq B ST AT E, AR AP TS B
1. greater than 1 meter / 1 fiex ¥ 31
2. greater than its width / S CISEREIRCY

3. less than 1 meter / 1 HIex 9 HH

4. equal to or less than its width / SHP] TNSTS P SRR T ITY HH

Correct Answer :-

« equal to or less than its width / sﬂiﬁbf Eﬁ?ﬂ_&; P TR TT 3T HH

74) The foundation which supports a large number of footings of loads of a single unit and covers the whole
loaded area is called /



aganwa’rﬁiﬂm%ﬁzénnﬂﬁwﬁg»‘m% YR B HERT UG HRdT § 3R HR 91 ¥ §FBd DI Hax HRdl &,
S el

1. strip foundation / @T{ BARICRIE]

2. combined footing / P HIE~S WT
3. spread footing / TS TI%T[

4. raft foundation / JTUE BTSSR

Correct Answer :-

« raft foundation / I BRI

75) The swelling nature of black cotton soil is primarily due to the presence of .

BTl HUNT YT Bl oo TPIA A TTY oI UMY S SR 21
1. montmorillonite / HICHIRAMISE

2. kaolinite / B3NS

3. lillie / fereedt

4. vermiculite / THRIATSE

Correct Answer :-

« montmorillonite / ﬁ@mqﬁf

76) CANCELLED

Which one of the following construction materials is NOT a constituent of cement concrete? /
frafifea & & Bt Fmfor armf Wi $wte o1 aes &R

1. Cement / e

2. Stone / U}

3. Mortar / qsnén

4. Lime /T

Correct Answer :-

. Mortar/afﬂa'q

77) CANCELLED

Depth of scour under bridge pier and abutments is determined by the equation. /

Ta & T 3R SMYR F Sferfd Re P Ters gt grT Rruffea & ot 81

ro 06T
D=0473 L%J

1.

r o 033
D =0.473 L%]

2.



D= 0.43:{9\? ’
. f)

7~y 033
D-0433 2|

4, i

3

Correct Answer :-

78) CANCELLED

Specific gravity Value for pure bitumen is in the range of ./
Yo sR d R fAlRec Paaa_ IS A g g

1.0.97 to 1.02/0.97 ¥ 1.02

2.0.90 t0 0.95 / 0.90 T 0.95

3.0.85 t0 0.95 / 0.85 ¥ 0.95

4.0.87 10 0.90 /0.87 ¥ 0.90

Correct Answer :-

. 0.97t01.02/0.97 T 1.02

79) CANCELLED

Abyssinian tube well is a special type of strainer tube well in which the diameter of the well pipe is kept equal
to i

Wmﬂawmmﬁﬁm%aﬂgaﬁ%ﬁﬂﬁaﬁmmm & RIS QT STl
|

1.3.8 cm
2.3.0cm
3.42cm
4.24cm
Correct Answer :-

« 3.8cm

80) CANCELLED

Probability of a 10 years flood to occur at least once in 4 yearsis ./
4 PH A FPATH IR A AT 10 TN Bl e P WRBaT B
1. 50%

2.35%

3.25%



4. 65%

Correct Answer :-

e 35%

81) CANCELLED

Which method does not fall under the category of displacement methods? /
= & 9 o= @ faftr fommu= faftr &6t goft & =& ot 82

1. Moment distribution method / SHEI;UT faavor fafa

2. Slope deflection method / UdUTdT fqeygur fafy

3. Method of consistent deformation / Tl ﬁ?ﬁf CANGIE

4. Kani’s method / =1t &1 fafdy

Correct Answer :-

« Method of consistent deformation / TTTd m ot fafdr

82) CANCELLED

Which of the following type of losses does NOT occur in the centrifugal pump? /
Adwgea vy # fFraffed # @ f59 yorR s1em agi giare?

1. Leakage losses / A gl

2. Frictional losses / 8T g1

3. Hydraulic losses / ERILEE]

4. Mechanical losses / i3 i

Correct Answer :-

« Frictional losses / EI'EWE'W

83) CANCELLED

Which of the following is not a type of bearing joint? /
form & A B 1 TP YR $T 3gfaT wiige TE 82

1. Scarfing joint / I Gﬁgf

2. Dovetailed joint / g GIV'IE_Cr

3. Tusk Tennon joint / T¥H ¢ Sise

4, Halving joint / BT%T[ \_YTUIE_C'

Correct Answer :-

« Scarfing joint / BT Sirge

84) CANCELLED



Which of the following tests is used to determine the rate of wear of stones? /

TRRY F R A R A Fuffva w3 & e fa & 3 S ar wderor wai & wmar s @2
1. Crushing test / IR UR&ror

2. Atrition test / SEYOT URT&f0T

3. Impact test / THTT TRI&0T

4. Abrasion / S{TEH0]

Correct Answer :-

« Attrition test / SEYUT UI&TOT

85) CANCELLED

In an open channel, a moving wave front which brings about an abrupt change in depth of flow is known as
./

TP A A0 |, T AU T @4 Whe) SN UaTe @1 1818 | faww uad— amar g, IS G
1. tranquil flow / WW@% tﬁh)
2. steady ﬂow/&mm (Ei'ﬁtl?‘h)

3. sutro / {Eﬁ
4. surge / psirca] (ﬂ\_rf)

Correct Answer :-

. surge/m(ﬂﬁf)

86) CANCELLED

What is the average skid resistance of the pavement surface when a vehicle travelling at a speed of 36 kmph was
stopped by applying brakes fully? (Assume the skid marks were 8 m in length.) /

afe #13 36 fril/ae Y a1e A I area ared YUl TU A 9% TSR AP 331 Y TS 3 Jds &7 $id
fRrs ufaRiy Far 81 (W & P & s fas & wars s fiew 31)

1.0.14
2.0.625
3.0.5
4.1.25

Correct Answer :-

« 0.625

87) CANCELLED

What is the sum total of organic nitrogen and ammonia nitrogen called as? /
PIAD AT YT SHIAT ATSEIo BT Fo TRT FT Heardl g2

1. Kjeldahl nitrogen / FeeTd TgC IS



2. Nitrate nitrogen / 7‘”3?3 ql%ij o

3. Nitrite nitrogen / "1I$§Ii3rd "1I$§\I\7|"1
4. Albuminoid nitrogen / Q?gﬁ?ﬁ%@’ 5 3?; SE|

Correct Answer :-

« Kjeldahl nitrogen / Feerd ql%éj\_ﬂq

85) CANCELLED

According to IS 800:2007 partial safety factor for resistance governed by yielding is? /

IS 800:2007 & IR, F=dT AFRET) & gRT frifa ufoRiy & R siifkre gRem e a1 32
1. 1.50

2.1.25

3.1.10

4.1.20

Correct Answer :-

- 1.10

89) CANCELLED

As per Building Bye Laws 2003, the minimum setback to be left from all sides building for the height above 40m
up to 45m is .

ﬁ%&vmﬁmo%%am,40ﬁ®4sﬁw%waﬂ'ﬁ1§$mmﬁﬁmﬁﬁmaﬁww
Jedd |

1. 10m
2. 12m
3. 1m

4. 16m

Correct Answer :-

90) CANCELLED

The total count of bacteria in potable water should not exceed ./
Ragaaddfa @l gaden_ Q@ sifte 98 gt afgul
1. 10 percc/ 10 g it

2. 100 per cc / 100 ufa

3. 10000 per cc / 10000 ufa iy
4. 1000 per cc / 1000 Tfa It

Correct Answer :-



. 10percc/10§|ﬁfw

1) CANCELLED

The specific gravity of pure bitumen is in the range of ./
e g R madiys @il
1.0.97-1.02

2.0.82-0.95

3.0.8-0.9

4.1.10-1.25

Correct Answer :-

« 0.97-1.02

92) CANCELLED

Square root of time fitting method is used to calculate : /
e1gH fisfen faftr & aeiga &1 It e &Y worn A & fore v siTan 2:
1. Permeability of soil (K) / J&T &1 YR (K)

2. Seepage pressure / 9 qId

3, Coefficient of consclidation (Cv) /| THehe &I dCI,UIIch (Cv)

4 Coefficient of volume compressibility (m+) / 3TAd=T Tg‘:lTﬁE'ﬁ‘JFlT & H;I'UTIEFT (m)

Correct Answer :-

. Coefficient of consclidation (Cv) / HHehd &l dCI’UITdn (Cv)

93) CANCELLED

The concentration of OH- ion in a water supply is measured as 17 mg/L at 25°C. What is the pH

of the water sample? /

ofe 3Mfd & OH- 3« & |HOT &1 25°C W 17 fASamA/ fex & ¥ & AT S
g1 e & A &1 e #1411 €

1. 12
2.13
3.10

4,11

Correct Answer :-

94) CANCELLED



Calculate detention time of the tank whose breadthis 2 m, length is 4 m and depthis 2.5 m. The

rate of flow is 4 x 10° liters per hour. /

39 &F & HNaus gHg i aoEr w, Fadr 9z 4 @ oqur gas 25 # g
TaTe &1 4 x 10° &fiex vfd =T ¢l

1. 5 hours / 5 G¢

2.4 hours /4 ¢

3.5.5 hours / 5.5 ©c

4.2.5 hours / 2.5 G¢

Correct Answer :-

. Shours/S‘a%

95) CANCELLED

A mild steel specimen is under Uni-axial tensile stress. Strain energv of mild steel specimen is
.if Young's modulus and vield stress formild steel are 2 x10° MPa and 150 Mpa

respectivelv. /

T RA AT Ufawy Fl3ral degar oeid & 31efieT 81 39 oRA ST & gfdwy
& gaE Far ¢, 9f¢ 491 & Alsge iR dler w&a & fov gfavwd dea

FaET 2 x10° vaEdiv 3 150 vadie §)
1. 56.2 N/mm?

5 0.0562 N/mm?

3. 0.562 N/mm?

4, 3.62 N/mm?

Correct Answer :-

0.0562 Nimm?

96) CANCELLED

The increase in Active Earth pressure Intensitv on a retaining a wall at a depth of 2.5m dueto a

surcharge of 200kN/m? for a sandy soil with 8 =337, y=18 kN/m* ¢=0 is: /

2,581 Fr g & EER UF TE@T W 200kN/m? & TS & RO o= 350, y = 18 kN/m? .
c=0drell Ydrell fAEr & folv fhanfier gedt ge digar # @ g g

1. 78.58 kN/m?

5 42 kN/m?

342 kN/m?

4 48 KN/m?

Correct Answer :-

. 542kN/m?



97) The unit of measurement is per quintal for the following: /

A9 $1 318 19 & forg wfa fdear 3
1. Collapsible gates with rails / al gad ﬂ?ﬁlﬁ gR
2. Metal wire netting / YT dIX STt

3. Mild steel reinforcement of R.C.C works / SR 1t BT RH ELCIGRCENE!
4. Rolling shutters / I ]MeR

Correct Answer :-

« Mild steel reinforcement of R.C.C works / SR w1t BT RHA HId Udd-

98) A beam has a square cross section of side “a’. theratio of section modulus, when the sideis

horizontal, to the section modulus when it is rotated by 45 is: |/
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99) If Ais deflection angle, then the chord length in circular curve is: /
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100) The value of @ that influences the shear strength of the soil depends on: /
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1. All of the above / SUad g4t



2. Mineralogical content only / hddl @i-oi1g 3{qad
3. Degree of compaction only / Fad Hg o1 f&ill
4. Void ratio only / dhad Rfdd SUId

Correct Answer :-

« All of the above / SURTad Ht



